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Choose the correct answer

The opposite figure represents

a function of X » the domain

of the function is (R,- \ O\

| (@R

- bR-]-2,2[
©OR-[-252]
dR-{o}
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Choose the correct answer
The domain of the fucntion f : f (X) = —2X— i -vrrrorroevee-

Tx-2
(a) {8} b)R-{8} (c)R*- {8}
>
s \\_; -2 :|(= &

fﬁﬁi@)} C
iac =+ 8
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Choose the correct answer

The domain of the function : f (X) = -2 i -+rrrrrrrren
1-X

(a) R /3 b)R-{1} (c) ]-o051] (d) ]-o0 5 1]
|- > O

~x 7 -\ <z
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Choose the correct answer %

The domain of the function f : f (X) = Vx_51—2 IS revermneeennn.
@) [= 1 5[ - {3} (b) [- 1 50o[ - {5}
B ]- 1 see] —f33 (d) [-1 5e0f
N
o _ |
\7 c ra\ F 2L \q .
-\, o2 7~ >
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Choose the correct answer

The domain of the function f : f (X) =
(a) -1 500
(© [-1 5[ - {2}

2-X
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Choose the correct answer
3X

The domain of the function : f (X) m is
(@R (b) R-{8} ©R-{2}
—_
x-3% $O
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Choose the correct answer L C*A)
+ D

If f(X)= V -1 5 g(X) =V 1-X » then the domain of the function (f + g) is «--+-eeeeee

(@) [1 500 (b) ]~ 5 1] ©[=1 50 @ {1}

x*X-\ 2> \—2 7
7 | AN

>z oc &

(D"t‘)wi (D
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Choose the correct answer
The domain of the function f : f (X) =14 = X7 S e

(a) R b)R-[-252] ) [-2 2]
2
U 2°
Jors?

"r-2,23

Mr. Michael Gamil 0122 13 15 981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




@R b R-{3} ©)R-{-3} dR-[-3,3]

_/
ﬂ(ﬂ):\] (1___3)’% L3¢°)

— ‘ X —23 \
AOMR-\ 7(\{ V
ﬂ‘—?‘\ > 3".’ L't:;)

e “ i JeRT3I

Mr. Michael Gamil 0122 13 15 981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




.I. Togeﬂler we-ean-make mah

Choose the correct answer C.us‘\'
The range of the function : f (X) = -_}__is
@R (b) R (© {-3} d)R-{-3}
Z é\o\hua:-v\ = Q
\r"‘”‘b e = sLC. ?\
<3 -
Z
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Choose the correct answer > 6°M¢W ng
The range of the function f : [-2 »3[ — =R 5 f(X)=X%is oo

@) [4 »9[ (b) R* ©[0,9[ (d) [0 4]
qé)
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The range of the function f : f (X) =

b)R-{5} ©)R-{3} d)R-{2}
A
JQMRZ\ :(\)\ - \,3;3 (R / éi;

p‘”= Lyi;‘/ﬂ) = Kx2

Pcz)y-: a+x2=9 / .
C(‘F\s N2

Conye (R 751 2 ~
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Choose the correct answer j,.t S

Iff(X):{ziC+3 > sthen f Q)+ f(5) = - \2./
X“-4X 5 4<X=T7

(a) 7 (b) 8 (c) 12 (d) 25
P2y 202)x3 =7
2.
ﬂ(k’))'- (9Y —L (3) =25 _2e= S
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Choose the correct answ
Iff (D @ g (5) 6 » then (gof) ()= é -----

(a) 1 (b) 5 ()6
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Choose the correct answer

N\

Iff(x)=x2 ’[g(x)=3x1then(fog)(X)= .............. at X =1
(a) 9 (b) 6 (c)3 (d) 27

(P3)et) = (35) = § 2

(Fe) O =qay =9 7
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Choose the correct answer
The opposite figure :

Represents the curyes of the two functions

Fant ten G2

(a) 6 ()5
(©-2 (d) 4
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BEEM  Tojether wecarmake A

Choose the correct answer

fc?) =3@)+\ ,
fiR—sE > f0=3X41 g(X)=E%1‘l @ ------------

sthen (f0g) (3) = - Bl y X<2

(a) 21 (b) 22 (c)28 (d) 30

Mr. Michael Gamil 0122 13 15 981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




Choose the correct answer

If f 5 g are two functions where f (X)=3X+1 5 g(X)= X2+aand(fog)(2) 5
,thena: ...............

-
-—

(a) 2 (b)3 ©)5

)= (9,)".\. Qa =1

(d)->5

Sz —\S —_g a=-5
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Choose the correct answer

FfOOE3IX+D)s g(X)=2X+kand(fog)(X)=(g0f) (X) sthenk = -ervereen:
(a)l (b)2 (c)3 (d)4

Fa3)0) = (9 -P)x) =K

(£°J> () =3 [7-%&?&3 + 2 =X
= éi"r?)"(‘bl = A

@e‘\')(ﬁ)‘i BX—\-‘L:S«&K =X
= 6Z

}/—k%K«’Ls— +TU+ K

SK-IK = 4 —2
2K =2 =S )k=\
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Choose the correct answer
Iff:RY—=R,f(X) = X2 , then the function is -

Keven. (Kodd. (¢) neither odd nor even. %not one-to-one.
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Choose the correctanswer & X O = E

Iff(X)=X tan X sthen it 1S ««-oeevveeeene

(a) odd. (b) even.

c) one-to-one. (d) neither odd nor even.
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The function f : f (X) = X cO8 X i --ereeeeeeee

(a) even. (b) odd. (c) neither odd nor even. (d) one-to-one.
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Choose the correct answer T G("”)
If f (X) is an\even&unctlon sthen f (a) + f (- a) = g(,a;) .\.

(a) zero (b) f (a) (©)2f () (d)f(2a)

leven = Peays fa)

odd = (\-(-00 S - P"-ﬂ)
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m Togeﬁqer we-ean-make mah

Choose the correct answer %
= 1

If f (X) is an odd function s then Jf@ =
—

f(—a)——

(a) 1 (b)-1 (c) f (a) (d) f (-a)
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(a)a
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Choose the correct answer

If fis nction » the curve of the function passes through the poi

andf( )=5 sthenm=:cveevveen

(a)-1 (b) zero ()1 (d2
— eron
2m 4\ = B Fa)=Fe:s
odd

2w =Yy Li3) =S
\ =2 fe-3)=-5
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BN Tojether wecarmake oA

Choose the correct answer
If fis annction and f (1) =2 5 the point (— 1 ,3 m + 7) lies on the curve of

[ C—]
T

the function f » then m = F('\‘s -1
(@) -3 (b)3 © 3 @

>
M+t = -2

dm = ~°(
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Choose the correct answer F‘ ©
If f is an even function and 6 f (X) + 4 f (- X) =40 s then f (3) =

—

(a) 4 (b) -4 (c)-3 (d) 20

(N

6FO 4 ulo-uo

‘Lg()'C‘IQ = Q

Lo u \Gust
Fed=k
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Choose the correct answer N\

If f is an odd function ,[hen2f(X)+8f(—X)= ...............

30
(a) zero (b)-2 (c)-4
2l gl ¢
3 Fuy
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Choose the correct answer “.—\— oNYL

From the following functions » the one-to-one function is f (X) = -----eooeeeee

()1 %> (b) | X-2] ()| x3] (d) 2%

P VN
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ey o |

The one-to-one function from the functions defined by the following rules is .-

@f)=(xX+2? O fX)=-6 ©f)=xX+3 @ f)=]1-X]|

\ N
N

Choose the correct answer
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Choose the correct answer
If £ is one-to-one and f (k2=+4) = (4K) sthenk = v
(a) -2 (b) 2 (c)-4

2
Kl = kK
KQ-A—L(K‘&L\ —
Y K-2
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\\
B Tojcther wecarmake oA
Choose the correct answer Y o y

; 2 y X>0 _ ) )
The function f : f (X) = { = is symmetric about the point = -------oevoo
-2 5 X<0
(@) (250) (b) (-2 ,0) (c) (050 d) @2 5-2)
>
x "
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Choose the correct answer

The coordinates of the vertex of the curve f : f (X) = (X - 3)* is (Sl Q)
(@) (05-3) (b) (-3,0) (©)(350) (d) (3 53)
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Choose the correct answer
The point of symmetry of the function f (X) = X3-2is (,O/ 'ﬂ)
(@) (0,-2) (b) (-2 50) (©)(250) (d) (0,2)
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Choose the correct answer
The vertex of the curve of the function f : f (X) = (2 - X)? 4 348 oo
(@) (2,3) (b) (2 ,-3) (€©)(=253) (d)(=2,-3)

2. 2
p“)s (x—l) ‘\-3 (O,-y\) = (x —oq

) a X\ = | —al

(2,3 a
7 ) (aa—x) = — (x- 0\3
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Choose the correct answer

If f: f(X) =X, then the point of symmetry of the curve g (X) = f (X) + 3 is -+-oeee
(a) (350) () (0 53) ©)(=350) (d) (0 5-3)

Jx) = p(x)*s
3
Jxy = X +3 (o,3)
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Choose the correct answer

The point of symmetry of the curve of the function f : f (X) = ﬁ +5is (Q)S)
(a) (=2 55) (b) (25 5) ()2 ,-95) (d)(=2,5-5)

Mr. Michael Gamil 0122 13 15 981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




B Tojether wecarmake mafiiE

Choose the correct answer
(r)) =\ x= 2

The equation of line of symmetry of the curve of the function f : f (X)=(3 - )C)2 + 28 e
(a)xX=-3 (b)yxX=2 {6} x=3 dy=3

oo (xxa) 2
(3,2)
S K=
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Choose the correct answer
The axis of symmetry of the equation f : f (X) =| X — 3 |+ 2 is the straight line whose

equation 18 wesossanmesans

(@ xX=3 (b) X=2 () X=-3 dy=3

(3,2)

Y x=3
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Choose the correct answer * ()=
The vertex of the curve of the functio{f (= N>+ D204 1 18w covncsors

(a)(150) (b)(-150) (©)©05-1) (d)©>1)

Q-= L -2 <l
X' b = -2 = -\
9-a Q,L\) -\
ds V- (1) < -—\3*&)(-\)‘(\ =0
C-\(°)
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Ohesso the earvestensmly (%)= * -2 ¥ C 20,0y
The point of symmetry of the curve of the function f : f (X) = %1—1 I8 eeeeeeieenene
(@) (2-0) ®2-,1) (©)(©0-1) (d)(1,2)

Lixy - 22241« fyo
x - | \ 2
_ 2cxA n 3 —b@ %.J
<1 - S e
3 9o 3
=2 B
Y % —\ A
T
K=\
C\ ()
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Choose the correct answer (o °)
The curve g (X) =X 2+ 4is the the curve f (X) =X 2 by translation 4 units
in direction of -+ oM —

(a) OX (b) OX

Mr. Michael Gamil

(c) Oy (d) Oy
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Choose the correct answer Lg_ .o)“r—'\/ (3__ 1 o)

The curve of the function g (X) = (X - 3)2 is the same as the curve f (X) = X 2
by translation 3 units in direction of -+

(a) OX (b) OX (c) Oy (d) Oy
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Together weeeatrmake /[ a.

Choose the correct answea“/—\ o
(-3 9) (2=

N I _
The curve of g (X) =| X + 3 | is the same as the curve f (X) =| X | by translation 3 units in
direction Of ------eceeevees

(a) OX (b) OX (c) Oy (d) Oy
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WM Tojether wecarmake A

Choose the correctanswer (o,0) = (3, -2)
(o0
Let f (X) x3 translated 3 umts to the rlght and 2 units downward and the resulted curve

lsg(X),theng( 1)_ ............... -
(a)— 64 (b)6 (c)-1 (d) - 66

Iz

3(%): &7\’3) -2
3
(-\ C-\-33 —2
AN = BT «

-
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Choose the correct answer

If f (X) =—=2—+ c where a » b » ¢ are real numbers has point of symmetry (4 s 4)
b X+b =\ & “ P
’ then a +c — e a - a/ = i

(a) al® (b) a® )1 (d) zero

L"’bc C\ ——b - L‘ﬁ ‘ C -U
(W 1"‘) \\os'q
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Choose the correct answer

The function f (X) = (X - 2)2 + 1 is increasing in the interval
(@) ]2 5 ] (b) ]-1 50 (©) J1 5o

( 20
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Choose the correct answer

The function f (X) =1 — (X + 3)? is decreasing in the interval -+
(a) ] 53] (b) ]-3 5o ©]-1 5]

(-3, \
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m use

Choose the correct answer
f(X)=]X-2|+3is increasing in -
(a) 13 5 oo (b) ]2 5 e (©) ]—oo,3[ (d)]—oo,zl
\
(2,3) \
: \

WM Tojether wecarmake moiEN
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Choose the correct answer o
The area included between the curve of the function f (X) =| X -3 |- 4 and

the X-axis = ---oveveenn square units.

()8 (b)7
\’)"3\ -U =0
-3\ = |

143?1.; z-3=4
#<% Y?Ls -
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Choose the correct answer
The range of the function f (X) =2 — X2 s X # 0 is ---cveveeene

(a) |- » 2] (b) ]2 5 o] (©) ]o,2]

ﬂ"" - @«(L

(2,2)
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Choose the correct answer

The range of the function f (X) = g l)‘gcl 1§ oeveneeene

(a){2,-2} (b) {-2} ©[-2,2] @R-{0}

Dew, i’% x7©°

- ¢<oi‘%
2 > B

L2° t _
/(x)s g o <__l4
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Choose the correct answer

The solution set of the equation | X —3 | =5 in R is «eoeeeeeee-

@ {35} ®{-2,-8  ©[-2,3] (d){-8 ,8}
Z35 K3
Y D
%-3=5/ x-3 = -5
xX <z D X =z =2
1%, A\
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Togeﬂler we-ean-make mah

Choose the correct answer
If f (X) =] X—-2]|-3 5 then the solution set of the equation f (X) =018 e
@{-1,5} ) {1,5} ) {0,5} @ {150}

|oc-21_3 - O

72 9L 2
xX-_-2 —_3zo -y -3 =0
9(' '570 - -\ z o

@/ et
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58 Togeﬁqer we-ean-make mat
Choose the correct answer \&

The solution set of the equation | X—-2|+3=0inR s
(a)-3 (b)5 (c)-5

| =2\ = -3
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m Togeﬂler we-ean-make mah

If f @ = |®— 3|+ 1 5 then the solution set of the equation f (X + 3) =4inRis ooeveeeet
@ {3,-3} (){0,3} ©{0,-3} @ {3}

Choose the correct answer
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Choose the correct answer

The products of the two roots of the equation : X% -3 | X |- 10 0 equals ---------------

(a)-25 (b) 10 ()25
v 2 WN7,° 2 <9

L‘tM: —'—a'— x-3x —\ezo 7~+3X-\° |

= =29
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Choose the correct answer

The solution set of the equation :V4 xX*-12x+9=7inRis

(b) {-2} ) {-255}
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Choose the correct answer *
The solution set of the equation : X | X_I +9=0inRis -ooveeee
A{3 -3} (b) {-3} () {3}
(&)
*7 <o
2
-~ _ .
x <4 - x
X

> = —\
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Choose the correct answer

The solution set of the equation : | X|=—- X in R is

(a) D (b)R () R™
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Choose the correct answer

The solution set of the equation : [ X —1[=X—-1inRis e
(@R bR-{1} () [1 5o (d) J-o51]

>z |\ v <L\

%-\ z/—\ —%f\??c—(

- 2 - _2

L\ ool %z\rﬂ)r
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Choose the correct answer
The solution set of the equation : [ X =3 [=2 X+ 9 inRis «oovveeee

(a) {- 11} (b) {-2} ©{-2,-11} @2
9023 5&(723
x -3 =22 +9 —Z+3 =224
X -2 =43 - -1 =43
-2 _ \2 —3x =6
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Choose the correct answer
The solution set of the inequality : | X|—2>0inRis «oeeeeeee

(@R-[-2,2] ) ]-252[ ©OR-]-2,2[ @][-2,2]

| oc\ > 2
x> 2 oc L -2

-2 %
et SN </ g
W — [-22D
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Choose the correct answer
The solution set of the inequality : | X —2 > 3is «roeereeees

(@R-[-155] b)R-]-155] © [-15,5] @]-1,5[
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Choose the correct answerff_&"

The solution set of the inequality : [2 — X | <4 is oo
(a)R—-[-2,6] bR-]-2,6[ (©]-2,6[
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Choose the correct answer

The solution set of the inequality \/ X2-2X+124inRis oo
(a)[-3 5] ®R-1-3,5[ (©]-355[

4 (n-D" 24

| 2 -\ 2 Y

x-\ 2 U x-\ & =Y
9(_7/5 & -3
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Choose the correct answer -3
The solution set of the inequality : 2‘\) X2-6X+9—|3=-X|+5>5inRis cereeeune

(a) @ (bR () {3} (dR-{3}

2|x-3|-\x-3,7°

oc-3] So
S. 5 =R — 137
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Choose the correct answer

The solution set of the inequality : |x—1_2| > % i

(a)]0 »4[ b [0,4]-{2}  (©[0,4]
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Choose the correct answer

The solution set of the inequality : [ X + 3 [<0is e
(a)@ (b) ]- e » 3] ©]-3 5o @ {-3}

la'TSl < O X1t3=0
==
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